MA-SMP-2H Modbus RTU Mode Protocol Address Map
%6 X, 16Bit/32Bit, 4 iE & 35 BF 8000~7FFF( —32768~32767 ),80000000~7FFFFFFF(-2147483648~2147483647)

A3 hE P 3R.BA 1
0000 ID A1 3 ) %] 55 MMP-2H % 00 R
0001 | STATUS | B A7 %2k & 4% A&, 2557 %6 B 0000~0003(0~3)(0:OFF,1:0N) R
(Bit0:AL1,Bit1:AL2)
0002 | DISP-MODE | B #7 8 774 &, %8 -~ 42 [F 000~0013(0~19) ¥ R/W
0003 ACTI 4R B F 7 8, 3 A 86, E 0000~0001(0~1)(0:HI,1:LO) R/W
0004 ACT2 45 B V5 7 %), 3 A 86, [ 0000~0001(0~1)(0:HI,1:LO) R/W
0005 DEM.T F 2 B R 23ROT, A B8 B 0001~003C(1~60) R/W
0006 ALL.S % — IR H R B A S E 0000~000C(0~12) R/W
(0:VE,1:AE,2:AN,3: Y W 4: ¥ Q,5: ¥ S,6: ¥ PF,7:DEMA,8:MAX.D, 9:KWH,
A:-KWH, B:KQH, C:-KQH)
0007 AL2.S ¥ = fm EIRRIEH £ 8 A S5 E 0000~000C(0~12) R/W
(0:VE,1:AE,2:AN,3: X W, 4: X Q,5: X S,6: X PF,7:.DEMA,8:MAX.D9:KWH,
A:-KWH, B:KQH, C:-KQH)
0008 P1.2.S Bhok 8 1Bk B 2 348 ¥ A 86 [ 0000~0002(0~2) (0:+KWH,-KWH; R/W
1:+KQH,-KQH; 2:KWH,KQH)
0009 KWHP Bk & By ) B8\ 85 [ 0000~0006(0~6) R/W
0:0.001,1:0.01,2:0.1,3:1,4:10,5:100,6:1000
000A NET BL48 4 %o, 8 A 85 B 0000~0003 (0~3)(0:1 ¢ 2L,1:1 ¢ 3L,2:3 ¢ 3L3:3 ¢ 4L) R/W
000B C-P TR AR F) 5], By 46 B 0000~0001 (0~1)(0:No,1:Yes) R/W
000C PT.DP  |PT wbfa h#t24 B2, #iAdE 0000~0003(0~3), 0:10%,1:107,2:107,3:10™ R/W
000D LOCK AR 44 2% &, B A 85 [ 0000~0001(0~1),(0:NO,1:YES) R/W
000E BAUD @A E B S8 E 0000~0004(0~4) 0:38K2,1:19K2,2:9600,3:4800,4:2400 R/W
000F PARI 3@ 3] 35 A% R 7T, B A 86 B 0000~0003(0~3) 0:N.8.2.,1:N.8.1.,2:EVEN,3:0DD | R/'W
0010 ADDR  |i@ 34 4,35 A 86 E 0000~00FF(0~255) R/W
0011 SDT £ 45 B B 3L V5 85 RS, B\ 86 B 0000~0063(0~99) R/W
0012 HYS1 3% 1 b BuE R, B A\ 8 B 0000~03E7(0~999) R/W
0013 HYS2 35 2 e, B A\t [ 0000~03E7(0~999) R/W
0014 DELI s4p | $p45 2L VB 851, 35 A %5 B FC19~03E7(-999~999) R/W
0015 DEL2 B 3p 2 B4k A VB 05 B, ¥ A\ 85 B FC19~03E7(-999~999) R/W
0016 CT.R CT o8, 3 A $5E 0001~270F(1~9999) R/W
0017 PT.R PT Lb4{&, ¥ A %6 E 0001~270F(1~9999) R/W
0018 CODE i@ B 45, 8 A\ 56 0000~270F(0~9999) R/W
0019 ALl #4p 18 1,8 A %5 E 00000000~3B9ACIFF(0~999999999) 3 4 7T, R/W
001A #3548 1,8 A %6 E 00000000~3B9ACIFF(0~999999999) &AL 7T R/W
001B AL2 S 4R 18 2, ¥y A 85 E 00000000~3BIACIFF(0~999999999) 3 4 7 R/W
001C S 4R 18 2, ¥y A 85 E 00000000~3BIACIFF(0~999999999) &4 7T R/W
001D| DISP-RVP R 48,48 & /& 88 -7 14,58 7= 46 [E 0000~2710(0~10000)"" R
001E| DISP-SVP |S #8,48 & J& B8~ {&, 38 7 3¢ 0000~2710(0~10000)" R
001F| DISP-TVP |T 48,48 % J& 28 -~ 14,58 -~ 465 B 0000~2710(0~10000)" R
0020| DISP-RA |R 48,4 & # 887 14,88 7 3. 0000~2710(0~10000)" R
0021| DISP-SA S 48,42 & jA BA = 18, 88 7 46 [ 0000~2710(0~10000) R
0022| DISP-TA [T 48,42 % 7% B8~ 18,8857 45 E 0000~2710(0~10000)" R
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(DISP-TXKVAR)

0023| DISP-RVL R 48,4 & /& B8 -7 14,58 7= 46 [E 0000~2710(0~10000)"" R
0024 | DISP-SVL S 48,4 & /& 88 5% 14,88 5~ 46 [E 0000~2710(0~10000)" R
0025| DISP-TVL |T 48,4 % & 88 -~ 14,58 -~ 46 B 0000~2710(0~10000)" R
0026 | DISP-RKW R 48, 4% B8 -7 14, B8 5~ 46 [E] D8F0~2710(-10000~10000) R
0027| DISP-SKW S 48, F.4% #8 -7 14,8 5= 46 [E] D8F0~2710(-10000~10000)" R
0028 | DISP-TKW [T #8, 4% B8 -~ {4, 38 7= 46 ) DSF0~2710(-10000~10000)** R
0029 | DISP-RKVAR R #8,%. f# #8714, 58 5~ 4 [E D8F0~2710(-10000~10000) R
002A | DISP-SKVAR |S #8,% f # 14,88 5 4. DS8F0~2710(-10000~10000)* R
002B| DISP-TKVAR |T #8,% @ #8 = 18,58 5= 46 [F) DSF0~2710(-10000~10000) > R
002C| DISP-RKS |R 48,8 1& o % 28 71 14, 88 1 %5 [E 0000~2710(0~10000)V R
002D| DISP-SKS |S 48, 48.7c 3 % 8 7 18,88 5 55 [E 0000~2710(0~10000)V® R
002E| DISP-TKS |T 48, #24& % % B8 7 44,887 55 B 0000~2710(0~10000)" R
002F| DISP-RPF |R #8,3 % I $ 8 = {4, 8 7= 46 E] FC18~03E8(-1000~1000) R
0030| DISP-SPF |S 48,5 % A #t 88 = {4, 88 7= 45 [F] FC18~03E8(-1000~1000) R
0031| DISP-TPF |T 48,35 % B $% 8 = 14,88 1= 45 [F] FC18~03ES(-1000~1000) R
0032| DISP-RHZ R 48,38 % 28714, 8 %t B 0000~1964(0~6500) R
0033 | DISP-SHZ |S 48,48 & #8114, 88 > ¢ B 0000~1964(0~6500) R
0034 | DISP-THZ |T 48,38 % #&-~ 14,88 5~ %5 [F 0000~1964(0~6500) R
0035| DISP-AN | %48 & /A 88 714, 8 57 % B 0000~2710(0~10000)" R
0036| DISP-DM |% 2 -7 14,58 = 46 [ 0000~2710(0~10000)"" R
0037 | DISP-Y KW |48 F.4% 88 7= 14,81 #5 B 0000~2710(0~10000)" R
0038 | DISP- X KVAR |48 % f #8 7= 14,8 % $5 B 0000~2710(0~10000)"" R
0039 | DISP-XKS |44 & % % 88w {8,587 46 B 0000~2710(0~10000)" R
003A| DISP-X VP |F3448 & & #6114, 88 5= % [F 0000~2710(0~10000)" R
003B| DISP-YA |34 & % 885 4. 8% 5 [ 0000~2710(0~10000)" R
003C| DISP-XPF |F33h % A #8414, % = 4. 0~03E8(0~1000) R
003D| DISP-ZHZ |-F3448 % 82>~ 4 0000~1964(0~6500) R
003E| DISP-KWH |+ F -] 8528 7 {4, 88 5= 4t [E) 00000000~3B9ACIFF(0~999999999) %, 43 7T, R
003F F B/ I~ B 88 57 18, B8 T %5 B 00000000~3B9ACIFF(0~999999999) {43z 7T, R
0040| DISP-KQH | % @ /|s ¥ 8 5= 14, %8 5% %6 [/ 00000000~3B9ACIFF(0~999999999) 3 4 7T R
0041 F % @B BE T A, 8T $ B 00000000~3B9ACIFF(0~999999999) 4 Ar 7 R
0042 REV R &) F F./) 85 8 7 44, 88 % 46 [ 00000000~3B9ACIFF(0~999999999) & 4ir 7T, R
0043 | DISP-KWH | & ¢+ R )\ 8% 88 57 14, B2 5% 46 00000000~3BIACIFF(0~999999999) 46 fir 7t R
0044 REV R.61F % @ N EBE R 4, B8 T $6 B 00000000~3B9ACIFF(0~999999999) 2 43 7T, R
0045| DISP-KQH |g &+ % f /)85 88 1 14, 88 7 45 [ 00000000~3B9ACIFF(0~999999999) 4 fir 7T, R
0046 |  MAX. | k48 K45 88w {8, 587 56 B 0000~2710(0~10000)" R
(DISP-ZKW)

0047 MAX. B K483 @ 88T 4,88 T 5 [ 0000~2710(0~10000)" R

R

R

R

0048  MAX. | k#8424 3 % B 48,8 m 40 8 0~2710(0~10000)"
(DISP-3KS)

0049 MAX. B A T340 R 85 7 {8, BA = 45 [ 0000~2710(0~10000)"
(DISP-XVP)

004A MAX. B K T34 E A 8 {8, 587 $5 [ 0000~2710(0~10000)"
(DISP-ZA)
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004B

MAX.  [# AP % B $8 {8~ # B FC18~03ES(-1000~1000)
(DISP-XPF)

~

004C

MAX. | A 73548 % Ba - (B, BA - 4 [ 0000~1964(0~6500)
(DISP-XHZ)

004D

MAX. B K & 48 E R BT A, 8T #6 B 0000~2710(0~10000)1"
(DISP-AN)

004E

MAX. % K % % 88 18,88 $ B 0000~2710(0~10000)"
(DISP-DM)

004F

DISP-RVP-THD |R #8,48 ‘& J& 3 3% 88 7 {4, B8 1= 45 B 0000~03ES (0~1000)

0050

DISP-SVP-THD [S 48,48 & J& 3 % B8 7= {&, 88 -~ 46 B 0000~03ES (0~1000)

0051

DISP-TVP-THD T 78,48 & & 3% /& #2 =~ 18, %8 T 5 [E] 0000~03E8 (0~1000)

0052

DISP-RA-THD |R #8,4% & 7 3% J% 88 51~ &, 28 5~ $¢ B 0000~03E8 (0~1000)

0053

DISP-SA-THD |S #8,4% & i 3% i% B8 T 18, 8 5~ %2 B 0000~03E8 (0~1000)

0054

DISP-TA-THD |T #8,4 & ,,ﬁ 3%k B8 14, 88 o1 6, [E) 0000~03E8 (0~1000)

0055

DISP-RVL-THD |R #8,4% & /& 2% /& #8r {4, 88 1 46 [E] 0000~03E8 (0~1000)

0056

DISP-SVL-THD |S 48,42 & J& 2% i 8 7% {4, 88 7 45, [ 0000~03ES (0~1000)

0057

DISP-TVL-THD|T #a,% & & 2% 7% 38 7= {8, 28 7 4 [F 0000~03ES8 (0~1000)

AR A A A A RR= R A &

£(1):MODBUS &7 $t [ & 0~2710(0~10000),4# 58 88 - 45 [E] & 0~270F(0~9999)

;¥(2):MODBUS &7 %t [l & D8F0~2710(-10000~10000),4% 58 88 5~ %5 [E & F831~270F(-1999~9999)
Q)R EHAGFLA

7E(4):0. %4848 R (VP) 2 F RN o

1.2-4848 EE(VP) LT 2 H /] 85
2. %4848 ER(VP)#E & & R B
3.%-4a48 ?EF;*:(VP) &1’7%2% AN
5.4-48 &?%‘iﬁ(A)ﬁ%‘I‘ deﬂ%
6.5-48F 7 (W) RN b
7.5 AARAE T F(S)E T RN
8. %48 & o R (QHL -+ R/ BF
9.4 7 & A % (PH) L+ RN B
10. 44898 & (Hz)#1 -+ R/ B
11 F-34F B (VE) #1735 E R (AE) 2 T A8 4 TR (AN) L F U 8%
““’""‘Iﬁ$(ZW)W"%&I/J»?(ZS)W"FI/J»?(ZQ)@+ NS
% 2(DM) 734498 £ (Hz)-F34 5h F B £ (X PF) ¥+ R/ 8
14 %R EZMAXDM) % K F39498 2F(MAX H2) & AP ¥ 2 B £ (MAX. PR+ B oF
15. 5% K47h Z(MAX. X W) 5z 4847 £ (MAX. X S)ix K48 & ) £ (MAX. X Q)2 F Fu ] B
16.5% K T34 5 B MAX.VE)#1 % K T34 T H(MAX.AE) & K B4 E R (MAX.AN) 81 F B,/ 6%
17. 44848 & B 3% % & % (VP_THD) ¥+ R/ o
18.8-48 42 & R 3% 0% Xk A £ (VL_THD) 2+ K./ o
19.&8 48 2 EiR 3% & X B R (A_THD) 2 R/
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